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pr 1 − 20 pts

pr 2 − 20 pts
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1) You are given an operator  A
`
  representing some observable which commutes with the hamiltonian, i.e. [H

`
,A

`
]=0. 

a) What is the relationship between the eigenstates of H
`

  and A
`
 ?

They share the same eigenstates. [additional info - the eigenvalues of one may be degenerate, and we often use the 
other to differentiate them. This will be the case for J and JzD

b)  Suppose the properly normalized eigenstates of A
`
 are †ai\. What is the value if Xai †a j\?Xai †a j\ = dij  That is they form a orthonormal set of base kets which span the space

c) What can you say about the eigenvalues ai?

Since A
`
 is an observable, the ai are real. 

d) What can you say about the time dependence of XA
` \?

It is time independent since  d XA
` \ÅÅÅÅÅÅÅÅÅÅÅÅÅ

dt
=   iÅÅÅÅ

Ñ
 YAH` , A

` E\  =0  

e) Suppose you wanted to solve some sort of problem involving H
`

  and A
`
. What is the general solution you would 

write down? (There may be lots of unknown constants - that is OK)†a\=⁄ ci †ai\



2) Consider a particle subject to a one dimensional simple harmonic oscillator potential 1ÅÅÅÅ
2

 mw2 x̀2. It is in a mixture of n=0 
and n=1 states, i.e. †a\= 1ÅÅÅÅÅÅÅÅÅÅè!!!!2

 H†0\ + †1\L.   Find

a) Xx̀\
x̀="###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
(à† + à)   †1\=à† †0\    E1 = 3ÅÅÅÅ

2
 Ñw E0 = 1ÅÅÅÅ

2
Ñw       à††n\=è!!!!!!!!!!!n + 1 †n+1\     and     à†n\=è!!!n †n-1\ 

Xx̀\ = 1ÅÅÅÅ
2
"###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
(X0§+X1§)(à† + à) (†0\+†1\)= 1ÅÅÅÅ

2
"###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
(X1§à††0\+X0§à†1\)= 1ÅÅÅÅ

2
"###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
(X1†1\+X0†0\)="###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw

b) X p̀\
 p̀=i"##########mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
(à† - à) X p̀\= = 1ÅÅÅÅ

2
i"##########mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
(X0§+X1§)(à† - à) (†0\+†1\)= 1ÅÅÅÅ

2
i"##########mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
(X1§à††0\-X0§à†1\)= 1ÅÅÅÅ

2
i"##########mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
(X1†1\-X0†0\)=0

So at t=0, its an one end of its oscillations.

c) Xx̀2\
We know [à, à†]=1     so   à à†=1+à† à

x̀2= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

(à† + à)(à† + à)= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

( à†à† + à† à +à à† + à à )= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

( à†à† + à† à + 1 + à† à + à à )

= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

(à†à† + 2 à† à + 1 + à à )Xx̀2\ = 1ÅÅÅÅ
2

ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

(X0§+X1§)( à† à† + à† à +à à† + à à
`

) (†0\+†1\)= 1ÅÅÅÅ
2

 ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

 HX0§ + X1§L Hà† à† + 2 à† à + 1 + à àL H†0\ + †1\L = 
ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

4 mw
 (X0§+X1§)( 2 à† à + 1) (†0\+†1\)= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
 (X0§+X1§)(à† à) H†0\ + †1\L + 1ÅÅÅÅ

2
ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
 (X0§+X1§)( 1) (†0\+†1\)= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
 X1§à† à†1\ 

+ ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

= ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

 X1†1\ + ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mw

= ÑÅÅÅÅÅÅÅÅÅ
mw

d) X p̀2\  and check the Heisenberg uncertainty principle

p̀2= - mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

(à† - à)(à† - à)= - mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

( à†à† - à† à -à à† + à à )= - mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

( à†à† - à† à - 1 - à† à + à à )

= - mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

(à†à† - 2 à† à - 1 + à à )X p̀2\ = - 1ÅÅÅÅ
2

mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

(X0§+X1§)( à† à† - à† à -à à† + à à
`

) (†0\+†1\)= - 1ÅÅÅÅ
2

 mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

 HX0§ + X1§L Hà† à† - 2 à† à - 1 + à àL H†0\ + †1\L = 
mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

4
 (X0§+X1§)( 2 à† à + 1) (†0\+†1\)= mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
 (X0§+X1§)(à† à) H†0\ + †1\L + 1ÅÅÅÅ

2
mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
 (X0§+X1§)( 1) (†0\+†1\)= mÑwÅÅÅÅÅÅÅÅÅÅÅÅ

2
 X1§à† à†1\ 

+ mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

= mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

 X1†1\ + mÑwÅÅÅÅÅÅÅÅÅÅÅÅ
2

=mÑw

∆x =
è!!!!!!!!!!!!!!!!!!!!!!!!!Xx2\ − Xx\2 ∆p =

è!!!!!!!!!!!!!!!!!!!!!!!!!Xp2\ − Xp\2
DxDp = "###################################################HXx̀2\ - Xx̀\2L HX p̀2\ - X p̀\2L = $%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%J ÑÅÅÅÅÅÅÅÅÅ

mw
- I"###########ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
M2N HmÑw - 0L  = "#####################ÑÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mw
 mÑw = ÑÅÅÅÅ

2
 
è!!!2 > ÑÅÅÅÅ

2
  so it obeys 

heisenberg

e) XH` \
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We know H is diagonal in this representation soXH` \= 1ÅÅÅÅ
2

(X0§+X1§) H` (†0\+†1\)= 1ÅÅÅÅ
2

(X0§H` †0\+X1§ H` †1\)= 1ÅÅÅÅ
2

 ( 1ÅÅÅÅ
2

 Ñw + 3ÅÅÅÅ
2

 Ñw) = Ñw

3)  a) You have a wave function for a particle in a box with sides at 0 and L as in the picture (careful, the edges are at 0 
and L The wave function is in a mixture of  the n=1 and n=2 energy eigenstates, i.e. †a,t=0\= 1ÅÅÅÅÅÅÅÅÅÅè!!!!2

 H†1\ + †2\L. A parameter 

you might want to use is  Ñw= Ñ2  p2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mL2 . Find the time dependence of Xx̀\. Looking at the form of Xx̀\ is it legitimate to think 

of the particle as rattling back and forth? 

      

V(x)

E

x
0 L

V(x)

E

x
0 L

†n\="######2ÅÅÅÅÅ
L

sin npxÅÅÅÅÅÅÅÅÅÅ
L

    En = n2  Ñ2  p2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mL2      H
` †n\= n2  Ñ2  p2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mL2 †n\   For ease lets set Ñw= Ñ2  p2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mL2   En = n2 Ñw. w here is just a 

parameter and may have nothing to do with the oscillation frequency

 †a,t\= e
iÅÅÅÅÅÑ  H

`
 t 1ÅÅÅÅÅÅÅÅÅÅè!!!!2

 H†1\ + †2\L= 1ÅÅÅÅÅÅÅÅÅÅè!!!!2
 H ei12  wt†1\+ei22  wt†2\)= 1ÅÅÅÅÅÅÅÅÅÅè!!!!2

 H eiwt†1\+e4 iwt†2\)
 Xx̀\ = 1ÅÅÅÅ

2
 He-iwt X1§ +e-4 iwt X2§)xH eiwt†1\+e4 iwt†2\)=X1 » x̀ » 1\+X2 » x̀ » 2\+e3 iwtX1 » x̀ » 2\+e-3 iwtX2 » x̀ » 1\

 now we will work in position representation

 Xx†1\="######2ÅÅÅÅÅ
L

sin pxÅÅÅÅÅÅÅ
L

  Xx†2\="######2ÅÅÅÅÅ
L

sin 2 pxÅÅÅÅÅÅÅÅÅÅÅ
L

   we will nee integrals like Ÿ0
L„ x x sin npxÅÅÅÅÅÅÅÅÅÅ

L
 sin mpxÅÅÅÅÅÅÅÅÅÅÅ

L
 

 X1 » x̀ » 1\ = 2ÅÅÅÅÅ
L

 Ÿ0
Lx sinI p xÅÅÅÅÅÅÅÅ

L
M sinI p xÅÅÅÅÅÅÅÅ

L
M „ x = 2 L Ÿ0

1ysinH p yL sinHp yL „ y = 2ÅÅÅÅÅ
L

 1ÅÅÅÅ
4

= 1ÅÅÅÅÅÅÅÅ
2 L

 X2 » x̀ » 2\ = 2ÅÅÅÅÅ
L

 Ÿ0
Lx sinI 2 p xÅÅÅÅÅÅÅÅÅÅÅ

L
M sinI 2 p xÅÅÅÅÅÅÅÅÅÅÅ

L
M „ x = 2 L Ÿ0

1ysinH 2 p yL sinH2 p yL „ y = 2ÅÅÅÅÅ
L

 1ÅÅÅÅ
4

= 1ÅÅÅÅÅÅÅÅ
2 L

 X1 » x̀ » 2\ = 2ÅÅÅÅÅ
L

 Ÿ0
Lx sinI p xÅÅÅÅÅÅÅÅ

L
M sinI 2 p xÅÅÅÅÅÅÅÅÅÅÅ

L
M „ x=2 L Ÿ0

1ysinH p yL sinH2 p yL „ y= 2ÅÅÅÅÅ
L

(- 8ÅÅÅÅÅÅÅÅÅÅÅ
9 p2 M = - 16ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

9 p2  L
= X2 » x̀ » 1\

 Xx̀\ = 1ÅÅÅÅÅÅÅÅ
2 L

+ 1ÅÅÅÅÅÅÅÅ
2 L

- 16ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
9 p2  L

(e3 iwt+e-3 iwt)= 1ÅÅÅÅÅ
L

-cos3wt 32ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
9 p2 L

= 1ÅÅÅÅÅ
L

(1- 32ÅÅÅÅÅÅÅÅÅÅÅ
9 p2 cos3wt)
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b) Now for the potential below calculate the transmission coefficient for the n=0 and n=1 states to penetrate through one 
of the barriers. Use for the energy, the average energy of the n=1 and n=2 states of from part a. That is use 

E = 1ÅÅÅÅ
2

( 12  Ñ2  p2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mL2 + 22  Ñ2  p2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 mL2 )= 1ÅÅÅÅ
2

 HÑw + 4 ÑwL = 5ÅÅÅÅ
2

 Ñw ;  L=10 fm H1 fm = 10-15 mL;  a=2 fm; mc2=100 MeV;  V=500 MeV

Remember Ñc=200 MeV fm so we can calculate Ñw.

Ñw= Ñ2  p2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mL2 = Ñ2  c2  p2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 mc2  L2 = H200 MeV fmL2  p2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 ÿ100 MeV H10 fmL2   ~20 MeV    

V(x)

V

E

x
L+a-a L0

V(x)

V

E

x
L+a-a L0

1ÅÅÅÅÅ
T

= 1 + V2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
4 EHV-EL sinh2(2 k2 a)   k2 = "########################2 mÅÅÅÅÅÅÅÅÅ

Ñ2  HV - EL
V2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
4 EHV-EL = 5002  MeV2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
4 5ÅÅÅÅÅ2  20 MeV I500 MeV- 5ÅÅÅÅÅ2  20 MeVM ~2.8 

  k2 = "########################2 mÅÅÅÅÅÅÅÅÅ
Ñ2  HV - EL = k2 = $%%%%%%%%%%%%%%%%%%%%%%%%%%%%2 mc2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅHÑcL2  HV - EL = $%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%2ÿ100 MeVÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅH200L2  MeV2  fm2  I500 MeV - 5ÅÅÅÅ
2

 20 MeVM = 1.5ÅÅÅÅÅÅÅÅ
fm

  sinh2I2 ÿ 1.5ÅÅÅÅÅÅÅÅ
fm

 2 fmM = sinh2(6)=40700

  1ÅÅÅÅÅ
T

=1+2.8·40700=113961    T = 9 x10-6

c) Now lets assume you can figure out the frequency that the particle hits the wall assuming that the wave functions do not 
change much from part a). Figure out the lifetime of the state.  

P=fT=2 wÅÅÅÅÅÅÅÅ
2 p

T

 t = 1ÅÅÅÅÅ
P

= pÅÅÅÅÅÅÅÅ
Tw

    so  tc = pÑcÅÅÅÅÅÅÅÅÅÅÅ
TÑw

= pH200 MeVÿfmLÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
9 x10-6 20 MeV

= 3.5 x106  fm     t = 3.5 x106  fmÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
3 x108 mês  1 mÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

1015 fm
= 1.17 x10-17s 

maybe we should use 3w for the frequency instead of w, in which case it would be 0.4x10-17s
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Here are some constants :
1 fm = 10-15 m

Ñc = 200 MeV ◊ fm
Ñ = 1.05457148 ¥ 10-34 J ◊ s = 6.5821 ¥ 10-16 eV ◊ s
c = 3 ¥ 108 m ê s
1 eV = 1.6 ¥ 10-19 J

Here are 4 integrals you may need. For 2 - 4 I calculate the definite integral between 0 and 1 for
you as well as the indefinite integral

1L ‡ x sinHn p xL sinHm p xL ‚ x

Integrate@x * Sin@n * Pi * xD * Sin@m * Pi * xD, x]

cosHHm-nL p xL+Hm-nL p x sinHHm-nL p xLÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅHm-nL2 - cosHHm+nL p xL+Hm+nL p x sinHHm+nL p xLÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅHm+nL2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

2 p2

2L ‡ x sinH p xL sinHp xL ‚ x

Integrate@x * Sin@Pi * xD * Sin@Pi * xD, x]

-
cosH2 p xL + 2 p x HsinH2 p xL - p xL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

8 p2

Integrate@x * Sin@Pi * xD * Sin@Pi * xD, 8x,0,1}]

1
ÅÅÅÅÅ
4

3L ‡ x sinH p xL sinH2 p xL ‚ x

Integrate@x * Sin@Pi * xD * Sin@2 * Pi * xD, x]

12 p x sin3Hp xL + 9 cosHp xL - cosH3 p xL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

18 p2

Integrate@x * Sin@Pi * xD * Sin@2 * Pi * xD, 8x,0,1}]
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-
8

ÅÅÅÅÅÅÅÅÅÅÅÅÅ
9 p2

4L ‡ x sinH 2 p xL sinH2 p xL ‚ x

Integrate@x * Sin@2 * Pi * xD * Sin@2 * Pi * xD, x]

-
cosH4 p xL + 4 p x HsinH4 p xL - 2 p xL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

32 p2

Integrate@x * Sin@2 * Pi * xD * Sin@2 * Pi * xD, 8x, 0, 1<]
1
ÅÅÅÅÅ
4
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